Lycée de la Communication/ BTS 1ère année –  Suffering from tech overload – Compréhension écrite

1. Introduce the document (nature – author – date – source – topic)
2. Look at the title. What message is conveyed by the use of ‘suffer from’ and ‘overload’?
3. Do the following sentences refer to tech savvy users (tick the box in green) or luddites (Tick the box in red)? 
The new laptops are both ergonomic and powerful.  □  – Our intranet is anything but reliable. □  – Why don’t we go back to the good old–fashioned method of handwriting ? □ – Those tech gimmicks can be fun but they distract users too much. □  –  We can process far more assignments at a time thanks to our new digital tools □  – Time–saving gadgets are likely to boost your productivity □  – By the time we have learnt how to use them properly they have become obsolete □  – The human brain is cognitively limited so using state-of-the-art technology is a real bonus □ – I hate receiving a professional text or mail when I am off duty.□
4. According to the journalist, when should employers rethink their reliance on technology? 
5. 
a. Pick out all the means of communication mentioned in the article. How many categories do they fall into? 
b. For each category, find at least three advantages and three drawbacks. 
6. “… technology is prone to communication gaps.”In your opinion, what kind of communication gaps does the journalist refer to?
7. Explain in your own words the reason why the journalist thinks that body language is just as important as other means of communication. 
8. Say if the following statement are RIGHT or WRONG. Then justify your answer in your own words or by quoting the journalist. 
a. Human beings are able to carry out several tasks at the same time.
b. Relying on technological tools necessarily increases your productivity.
c. All the students who use computers concentrate on their schoolwork.; 
d. If you want to concentrate on your work, you’d better take notes by hand. 
e. To reinforce cohesion within your employees you should enable them to use digital means of communication.
8. Answer the following questions in complete sentences.
a. Why do people commonly think that millennials are likely to favour digital means of communication over more traditional ones?
b. Why don’t some managers hesitate to inundate their employees with new technology?
c. Explain the reason why their employees’ productivity is paradoxically likely to decrease.
d. How can employers boost their staff’s productivity?
e. Why can humans only perform a limited number of tasks at the same time? 

9. Choose the right word in bold each time.
a. Tech-savvy employees favour communication via text / via group meeting.
b. It's far more difficult / easier to build stronger relationships face to face. 
c. Our brain is able to process only a limited amount / a great deal of information at a time. 
d. Over-reliance on technological tools leads to less efficiency/ more productivity. 
e. Humans are terrible / terrific multitaskers.
10. Here are the main ideas of the article. Rank them in order of appearance
a. All things considered, limiting your reliance on technological tools is likely to increase our productivity_ _ 
b. Maybe it is high time employers realised that technological tools are not the best solution to promote efficiency in the workplace.










_ _ 
c. When we carry out several tasks at the same time, our productivity decreases         


_ _ 
d. Despite popular beliefs, millennials definitely prefer more traditional means of communication. 
_ _ 
e. Technological tools are supposed to make communication easier but they distract users

_ _ 

12. Translate into French the last paragraph - “Ultimately (l. 22) … connected culture” (l.25)
